
UČBENIK:	
	
Naloga	2:	
1.	No,	she	doesn't.	
2.	Because	there	aren't	a	lot	in	Africa,	as	some	people	kill	them.	
3.	No,	he	isn't.	
4.	Because	the	guinea	pig	has	jumped	onto	it.	
	
Naloga	3a:	
1	zoo	keeper			2	Keira			3	Zoo	keeper			4	Pablo	
	
Naloga	3c:	
1	For	me,	animals	are	happier	in	the	wild.	 	 	 DELOVNI	ZVEZEK:		
	
2	I	think	so,	too.	
3	I'm	not	sure.	
4	Me	neither!	
	
Naloga	4a:	
1		do	you	think,			think,			don't	
2		do	you	feel,			me,			too	
3		do	you	think,			think,			don't,			think	
	


